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001. 2 Quadratic Functions

1. Lot the graph of ¢ be u trinstation 3 units right and 2 units up, followed by @ refloction
in the v-axis of the graphof L) = x° ~ Sx, Write arule for g
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Quadratic Fur

3 ways to write the equation:

» f(x)=ax2 +bx +¢ Standard Form
o f(x)=a(x-p)(x-q)  Intercept Form
e f(x)=a(x-h)? +k Vertex Form

ctions




Investigating the graj 18 of quadratics in the form y=a(x-h)" +k
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The Benefits of fes?eﬁtex Form y = a(z—h)*+k
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The Benefits of S Eqdard Form e f(x)=ax2 +bx +c
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For the following quadratics find:

i the equation of the xis of symmetry § the coordinates of the vertex
i the axes intercepts, they exist. # Hence, sketch the graph.
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If we are given sufficient information on or about a graph we can determune the quadeatic
function 1 whatever form required. ‘

Let's Review!

What are the forms a quadratic may be written 1n?
List the characteristics from a parabola would best
it each form.
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Writing Equations to Model Data

eqguaily-spaced inputs, vour can analyze patteras in the dfff&'i‘@ﬁ"&"‘i of
ermine what type of function can be used to model e dats
fifferences. Quadratic data have constant second {!i{ﬁ
erences of fly) = 2° are shown below.
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Because the second differences are wmmzf ¥ou oo odel e deda with g
guadratic functon,
Step 2 Write a quaditic fonction of the form AU = ar” + & + ¢ thal models the
data. Lise nay throe poinds (4 2) from the table fo wille o systom of eguations,
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Use the eliptination method o sodve the systom,

Real-life data that show a quadratic relationship uswally é‘e mi have constant
second differences because the data are oot exgefly qumi ratic. Relationships that ar
approvimtely guadratic have second differsnces that a mtzw]y ‘close™ In s %uc&
Many techaology toods have a guadralic regression fmmx that vou can use (o .3"§§1CE ]
quadratic function that best models a set of data.
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\tiles per | Miles per’
hour, x | gallon, y
20 14.5
24 17.5
3 21.2
36 237
443 252
43 258
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36 25.1
61l 240
70 195
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